Tema:

3aKOH 3JIEKTPOMATHUTHOM MHAYKIIUH.

Ne N3menenne HNuTepBan Yuc10 BUTKOB IAC nnayknuu, B
MAarHMTHOIO BpeMeHH, C
noTroka, BO
1 -2 MB6 5 MC 100 ?
2 -4 MB0O 3 Mc ? 26,7B
3 -3 MB0 ? 200 120 B
4 ? 6 Mc 500 120 B
5 -1 MB6 6 Mc 100 ?
6 -3,5 MB6 2,1mc ? 275B
7 -2,5 MB06 ? 330 150 B
8 ? 5,2 MC 700 22 B
9 -2,4 MB6 4,8 mc 150 ?
10 -4,2 MB6 3,8 mc ? 28,5B
11 -3,7 MB6 ? 250 140 B
12 ? 6,3 Mc 450 32 B
13 -2,3 MB0O 5,1mc 180 ?
14 -4,2 MB06 3,2 MC ? 26,9 B
15 -3,9 MB6 ? 220 132 B
16 ? 6,6 mc 520 42 B




